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TrigonometryExercise for No.2

7 9 X 4
Nol = (COS(A) = 5], No2 = (sec(A) = Ej’ No3 = (tan(A) = gj, No4 = (csc(A) = ;j
[ I=(y=cos(0)) 2=(y=-5sin(0)) 3=(y=sin(40)) |

0 1
Nos = 4=(y=—-4cos(20)) .5=(y=—2cos(gj) 6= y:—gsin(49)+4j
7—(—1 (R—GD §=(y=-3sin(2m0O)-1 MA
== 5cos 5 S=(y=-3sin(2n0O)-1) TH
1 X )
y=—cos(x)—1 y=—5 COS(EJ y=3sin(2ntx)+3
Mot = m 5 .(mj MA
y=3cos| ~|+4 y=Tsin —
2 2 3 TH
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TrigonometryExercise Answers for No.2

. 4
Ansl = [ sin(4) =

Ans2 = {sin(A) =

7 A) 2
, COS =,
9

tan(A4) =

2

2 7
,cos(A4) = 5, tan(4) =

77
.~

,tan(A4) =

16 —x

Ans3 =
] X
Ans4d =| sin(4) = I cos(A4) =
i Ans.l =
Ans.2 =
Ans.4 =
AnsS =
| Ans.8 =
[Page = 0002]

X

[y=cos(0),2m, 1,[-1,1]]
[y=-5sin(0),2m5,[-5,5]]

Ans.3 :[yz sin(4 0), g 1[-1, 1]}

[y =—4 cos(2 0), 1, 4, [-4, 4]]

Ans.5 =[y ) cos(%j, 127,2,[-2,2]
19 21

1 w1
T T |

0

1
Ans.7 = [y = —g COS(T

1
5

Jos[5s]]

[y=-3sin(2mw0)-1,1,3,[-4,2]]

94/2

5
_ sin(4) = ﬁ, cos(4) = m tan(4) = csc(A) =

4
,csc(A)=",sec(4) =
2 X

, Ans6 =

[ [y =—cos(x) -1, black] |

sl )ow
I y—2sm 3 , cyan |

742

},

9
,sec(A4) = ;, cot(4) =

|

8 A
9 2477 :
c(A):Ect(A): g}, ,P/?
sec( )=""_" t(A)—
16 —
cot(4) =
16 —x

Tl

[y=3sin(2tx)+ 3, red]

X
{ y=3 cos(;) + 4, green}
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